05 93
%9

ago
]_

<

D

b

A

@ 970 ® 1070 @ 1274 ® 1670

@D 570



277t Az e 5 he] 24918 FA 94 o, e £ o] §
B57) B 490 £8 o 2 oh3, & F o] go] B4} Hie

Al FEpHL T W, a+b Q] FH2?

D 25 ® 30 3 35 @ 40 B 45



=

3. & a"at Zo] AC = BC ¢l A Zto] 5 HAl

744 ABC o)A AD = DE = EC ¢ 1, zx ©
a71e?

@ 22° @ 22.5° ® 23°
@ 23.5° (B 25°



4. & a8y 22 AABC oA AB = 5cm , AC = 4ecm , BC = 3cm
ojal, /C=90° A ufj, HHLA 1 9] vkz]F2] do]=?

D lem ® 2cm 3 3cm @ 4cm B 5cm



e w0 5 x, el W

AR A A=
g0

Eilks!
<y

oF U

EMCEES

5.



